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A rectangle is inscribed in the upper half of the circle z* + * = a?
as shown at right. Calculate the area of the largest such

rectangle. A. 2

5 B. 3av2 C.2a%2 D. 4a? @az.
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Given that f(z) is differentiable for all z, f(2) = 4, and f(7) = 10, then the Mean Value Theorem states
that there is a number c such that @ 2<c<T7and f'(c)=2 B.2<c<T7and f'(c) = 5 C.
4<c<10and fi(c)=¢ D.2<c<Tand f'(c)=0 E.4<c<10and f'(c) =0.
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Which of the following is/are true about the function g(z) = 42 — 3z*? (1) g is decreasing for = > 1.
(2) ¢ has a relative extreme value gt (0,0). (3) the graph of g is concave up for all z < 0.
A. (1), (2) and (3) B. only (2) only (1) D. (1) and (2) (1) and (3).
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Find £ [* JEFidtatz=v2. (6 B.3 C.v2Z D.ViZ+1 E ;L
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Suppose that the mass of a radioactive substance decays from 18 gms to 2 ms in 2 days. How long will
it take for 12 gms of this substance to decay to 4 gms? A. {%g— days 1 day C. }—ﬁ% days
D. 2days E. (In3)? days
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